MSLC Trigonometry Handout

Trigonometric Functions:
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Law of Sines: Law of Cosines: Pythagorean Theorem:
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Ratio Identities:
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Co-function Identities:
sind =cos(7/2-6)

cos@=sin(z/2-0)

Even/Odd Identities:
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csch =sec(z/2-0)

Pythagorean Identities:
sin?@+cos?6 =1

1+tan® O =sec’
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Addition & Subtraction Identities:

sin(x+y)=(sinx)(cos y)+(siny)(cosx)  cos(x+y)=(cosx)(cosy)—(sinx)(siny) tan(x+y):%
sin(x—y)=(sinx)(cos y)—(sin y)(cosx)  cos(x—y)=(cosx)(cosy)+(sinx)(siny) tan@—ﬂ:%
Double-Angle Identities: Power Reducing Formulas:
sin(2x) = 2(sinx)(cos x) singx:].—COSZx
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cos(2x) = cos? x—sin® x = 2cos? x ~1=1-2sin’ x cos? x = LT C082x
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tan(2x)=1_tan2x tan x_1+c052x
Product-to-Sum Identities: Sum-to-Product Identities:
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Half-Angle Identities:
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Trig Graphs:
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Inverse Trig functions:

y=arcsinx (=sin""x)
y=sin(9)
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y=arccosx (=cos ™ x)
y =c0s(0)

y=arctanx (=tan"x)
y=tan(0)

fix)=tan(x)
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DOMAIN:

y =sin *(x)

-1<x<1

y =tan™(x)

—00 < X < 0
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Radians & Degrees

Converting Radians to Degrees: 6‘-@
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Converting Degrees to Radians: e-ﬁ

The Unit Circle

(x,y)=(cosb,sin0)




